




































BOM ID Item Code Qty Item Code
4 901868 4
14 908021 2
16 901879 2
15 P16834 2
12 P16836 1
13 P16837 1
5 4 980160

BOM ID Item Code Qty Item Code
6 6 909210
7 4 909266
8 2 900735
11 6 980128
9 4 909256
10 12 905051

A10874 06.03.2023 
Page 1 of 7



901879 980128
Ø7x40

A10874 06.03.2023 
Page 2 of 7



A10874 06.03.2023 
Page 3 of 7



980160
M8

909256
Ø16/8.4x1.6P16834 909256

Ø16/8.4x1.6
900735
M8x60

A10874 06.03.2023 
Page 4 of 7



A10874 06.03.2023 
Page 5 of 7



908021

901868

905051
Ø24/8.4

909210
M8x40

A10874 06.03.2023 
Page 6 of 7



909266
M8x50

909210
M8x40

P16837

909266
M8x50

P16836

905051
Ø24/8.4

901868

905051
Ø24/8.4

909210
M8x40

A10874 06.03.2023 
Page 7 of 7



BOM ID Item Code Qty Item Code
12 900727 2
16 P17293-217 1
3 P16853-217 1
4 P17302-217 1
9 901182 1
5 2 900240
13 2 900342
18 1 900958
6 2 901900
7 2 901902

BOM ID Item Code Qty Item Code
11 4 907727
14 1 909850
8 1 911698
15 7 980101
17 18 980128
10 1 980150
1 1 P10224
2 2 P10225

A10875 
Rev 2

02.08.2023 
Page 1 of 9



980101
Ø4.5x70

x7

Pre drill holes and countersunk Ø5
Note! No tangling or sharp edges allowed!

A10875 
Rev 2

02.08.2023 
Page 2 of 9



a
a

980128
Ø7x40

x6

A10875 
Rev 2

02.08.2023 
Page 3 of 9



14 mm

Pre drill Ø60 - 60mm deep

90 mm

900727

907689

A10875 
Rev 2

02.08.2023 
Page 4 of 9



980128
Ø7x40

(706371)

P10224
900240
Ø8x70

907727
M10x40

A10875 
Rev 2

02.08.2023 
Page 5 of 9



Align this part with 
bended tube direction

Use these parts and detail with small wooden slide (870mm height)

911698
M10x70

P17302

P17293

P16853

A10875 
Rev 2

02.08.2023 
Page 6 of 9



Align this part with 
bended tube direction

Use these parts and detail with all the other height slides

900958
M10x30

P17293

P16853

A10875 
Rev 2

02.08.2023 
Page 7 of 9



P16853

900342
M8x16

901902

980150
M8

901182

901900

901902

900342
M8x16

909850
M8x25

A10875 
Rev 2

02.08.2023 
Page 8 of 9



x4
980128
Ø7x40

A10875 
Rev 2

02.08.2023 
Page 9 of 9



-Entfernen Sie zunächst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberfläche und bringen Sie den

16.2.2021

- Kiinnitä tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

- Puhdista maalattu metalli- tai vaneripinta pölystä ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.

- Rengör den pulverlackerade metallytan eller laminatytan så att den blir fri från smuts och fukt. Fäst etiketten enligt fig. 2.

- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.

- Avant de coller l’étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface
doit être sèche (voir image 2).




